
Answer on Question#37421 – Physics - Mechanics 

V1 = 11.2
km

s
− escape speed from Earth with mass MEarth and radius r; 

V2 − escape speed from Earth with mass 2MEarth and radius r;  

Formula for the escape speed (G − universal gravitational constant): 

V1 = √
2GMEarth

r
                      (1) 

V2 = √
2G ∙ (2MEarth)

r
           (2) 

(2) ÷ (1): 

V2

V1
= √

2G ∙ (2MEarth)

r
∙ √

r

2GMEarth
= √2 

V2 = √2V1 = √2 ∙ 11.2
km

s
= 15.8

k𝑚

s
 

Answer: escape speed from Earth with mass 2MEarth is equal to 15.8
km

s
. 
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